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GROUP B :- UNIT – VIII  
(Human Settlements ) 

 
Carrying 1 Marks                    

 

1 fuEufy[kr esa vkS|ksfxd uxj dk ,d mnkgj.k gSA  
     ¼d½ ubZ fnYyh         ¼[k½ Hkksiky  
     ¼x½ eqEcbZ             ¼?k½ te’ksniqj  

1 

 In the following, there is an example of Industrial city. 
(a) New Delhi 
(b) Bhopal 
(c) Mumbai  
(d) Jamshedpur 

 

2 fuEufyf[kr esa dkSu egkuxj ugha gSA  
     ¼d½ fnYyh            ¼[k½ eqEcbZ  
     ¼x½ iVuk             ¼?k½ dksydkrk   

1 

 In the following which one is not a megacity 
(a) Delhi 
(b) Mumbai 
(c) Patna 
(d) Kolkata 

 

3 ^fefy;u flVh^ dgrs gSaA  
     ¼d½ 10 yk[k dh vkcknh  
     ¼[k½ 1 yk[k dh vkcknh  
     ¼x½ 5 yk[k dh vkcknh 
     ¼?k½ 50 gtkj dh vkcknh     

1 

 What is called ‘Million Cites’ 
(a) 10 lakh population 
(b) 1 lakh population 
(c) 5 lakh population 
(d) 50 thousand population 

 

4 unh ds fdukjs fodflr cLrh dk izfr:i gksrk gSA  
     ¼d½ xksykdkj izfr:i          ¼[k½ js[kh; izfr:i   
     ¼x½ f=Hkqtkdkj izfr:i         ¼?k½ vjh; izfr:i     

1 

 Which type of settlement Pattern developed on the bank of River. 
(a) Circular Pattern 
(b) Linear Pattern 
(c) Triangular Pattern 
(d) Radial Pattern 

 

5 ioZrh; uxj dk ,d mnkgj.k gSA  
     ¼d½ dkuiqj            ¼[k½ f’keyk  
     ¼x½ jk¡ph              ¼?k½ ukxiqj  

1 

 An example of mountain city is …… 
(a) Kanpur                     (b)  Shimla 
(c) Ranchi                      (d)  Nagpur 
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6 Lo.kZjs[kk unh rV ij fLFkr uxj dkSu lk gSA  
     ¼d½ jk¡ph          ¼[k½ iVuk   
     ¼x½ jkmjdsyk      ¼?k½ dksydkrk   

1 

 Which city is located on the bank of R. Swarnrekha 
(a) Ranchi 
(b) Patna 
(c) Rourkela 
(d) Kolkata 

 

7 [kfut dsUnz ij dkSu lk uxj fodflr ugha gSA  
     ¼d½ /kuckn          ¼[k½ cksdkjks 
     ¼x½ cukjl          ¼?k½ jkuhxat   

1 

 Which city is not developed on mineral centre. 
(a) Dhanbad 
(b) Bokaro 
(c) Banaras 
(d) Raniganj 

 

8 fuEufyf[kr esa ls dkSu /kkfeZd dsUnz dk ,d mnkgj.k gSA  
     ¼d½ Hkksiky         ¼[k½ iVuk   
     ¼x½ okjk.klh        ¼?k½ jk¡ph    

1 

 Which of the following is an example of Religious centre.  
(a) Bhopal 
(b) Patna 
(c) Varanasi 
(d) Ranchi 

 

9 Lk?ku cfLr;k¡ ik;h tkrh gSA   
     ¼d½ eSnkuh {ks=            ¼[k½ ioZrh; {ks= 
     ¼x½ iBkjh {ks=             ¼?k½ e:LFkyh; {ks=      

1 

 Clustereal Settlements Found :- 
(a) Plain Area 
(b) Mountain Area 
(c) Plateau Area 
(d) Desert Area  

 

10 lh<+huqek izfr:i ik;k tkrk gSA 
     ¼d½ eSnkuh {ks=            ¼[k½ ioZrh; {ks= 
     ¼x½ iBkjh {ks=             ¼?k½ e:LFkyh; {ks=      

1 

 Terraceal Pattern Founds :- 
(a) Plain Area 
(b) Mountain Area 
(c) Plateau Area 

      (d) Desert Area 

 

11 >hy ds pkjks vksj fodflr izfr:i dks dgrs gSaA  
     ¼d½ js[kh; izfr:i              ¼[k½ xksykdkj izfr:i   
     ¼x½ vjh; izfr:i               ¼?k½ lh<+h izfr:i      

1 

 The Pattern developed around a lake is called ……….. 
(a) Linear Patterned 
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(b) Circular Patterns 
(c) Radial Pattern 
(d) Terrace Pattern 

12 vk;rkdkj izfr:i fodflr gksrk gSA  
     ¼d½ unh ds rV ij               ¼[k½ lM+d ds lgkjs  
     ¼x½ >hy ds pkjks vksj             ¼?k½ pkSjkgk ij        

1 

 Rectangular pattern is developed in  
(a) On the Bank of River 
(b) Along Road  
(c) Around lake 
(d) On chowk 

 

13 ufn;ksa ds MsYVkbZ Hkkx esa dkSu lk izfr:i ik;k tkrk gSA  
     ¼d½ ia[kkdkj izfr:i             ¼[k½ xksykdkj izfr:i  
     ¼x½ >hy ds pkjksa vksj            ¼?k½ pkSjkgk ij       

1 

 (a) fan Shaped  
(b) Circular pattern 
(c) Around lake 
(d) On Chowk   

 

14 xzkeh.k cLrh dk izeq[k O;olk; D;k gSA  
     ¼d½ okf.kT; ,oa O;kikj           ¼[k½ mPp lsok;sa 
     ¼x½ iz’kklu                     ¼?k½ d`f"k      

1 

 What is the main occupation F Rural settlement. 
(a) Commerce & Trade 
(b) Higher Services 
(c) Administration 
(d) Agriculture 

 

15 fuEufyf[kr esa uxjh; leL;k dkSu&dkSu lh gSA  
     ¼d½ vkokl dh leL;k        ¼[k½ ty dh leL;k 
     ¼x½ iznwf"kr i;kZoj.k          ¼?k½ buesa ls lHkh   

1 

 Which is an Urban problem in the following 
(a) Habituate problem 
(b) Water Problem 
(c) Polluted Environment 
(d) All of above 

 

16 fuEufyf[kr esa ls dkSu lk vuq"kaxh uxj ugha gSA  
     ¼d½ xkft;kckn             ¼[k½ jksgrd 
     ¼x½ xqM+xk¡o                 ¼?k½ iVuk      

1 

 Which one of the following is not a conurbation. 
(a) Ghaziabad 
(b) Rohtak 
(c) Gurgawn 
(d) Patna  

 

17 2011 bZñ dh tux.kuk ds vuqlkj Hkkjr esa uxjh; tu0 dk izfr’kr gSA  
     ¼d½ 27-78 %                 ¼[k½ 25-71 %                 
     ¼x½ 31-15 %                 ¼?k½ 40 %                      

1 
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 The percentage of urban population in India, according to census, 2011 
(a) 27.78 % 
(b) 25.71 % 
(c) 31.15 % 
(d) 40 % 

 

18 2011 bZñ dh tux.kuk ds vuqlkj Hkkjr esa egkuxjksa dh la[;k fdruh gSA  
     ¼d½ 35                 ¼[k½ 53                 
     ¼x½ 40                 ¼?k½ buesa ls dksbZ ugha                     

1 

 The Number of metropolitan cities in India, According  to census 2011. 
(a) 35 
(b) 53 
(c) 40 
(d) None of these.   

 

19 fuEu ls dkSu i;ZVu uxj ugha gSA  
     ¼d½ f’keyk                 ¼[k½ iape<+h                
     ¼x½ tSlyesj                ¼?k½ :M+dh                     

1 

 Which one of the following is not a tourism city. 
(a) Shimla 
(b) Panchmarhi 
(c) Jaishalmer 
(d) Roorki  

 

20 fuEufyf[kr esa ls dkSu nl yk[kh uxj ¼fefy;u flVh½ ugha gSA  
     ¼d½ iVuk                ¼[k½ te’ksniqj             
     ¼x½ /kuckn                 ¼?k½ cksdkjks                     

1 

 Among the following is not million City. 
(a) Patna 
(b) Jamshedpur 
(c) Dhanbad 
(d) Bokaro 

 

21 fuEufyf[kr esa ls fdl egkuxj dh tula[;k lcls vf/kd gS \ ¼2011 dh tux.kuk ds 
vuqlkj½ 
     ¼d½ eqEcbZ                ¼[k½ dksydkrk              
     ¼x½ fnYyh                ¼?k½ psUubZ                     

1 

 In which metropolitan city has maximum population. (According to census  2011) 
(a) Mumbai 
(b) Kolkata 
(c) Delhi                      (d)  Chennai 

 

22 buesa tula[;k ds vuqlkj lcls NksVk egkuxj gSA ¼2011 dh tux.kuk ds vuqlkj½ 
     ¼d½ dksydkrk                ¼[k½ fnYyh              
     ¼x½ psUubZ                    ¼?k½ eqEcbZ                     

1 

 Smallest city on the basis of population. (According to census  2011) 
(a) Kolkata 
(b) Delhi 
(c) Chennai 
(d) Mumbai 
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23 fuEufyf[kr esa ls dkSu lk uxj leqnz rV ij fLFkr ugha gSA  
     ¼d½ dksfPp                     ¼[k½ vkxjk               
     ¼x½ fo’kk[kkiVue              ¼?k½ dkaMyk                     

1 

 Which one of the following city is not on the seacoast. 
(a) Kochi 
(b) Agra 
(c) Vishakhapattanam 
(d) Kandla  

 

24 xzkeh.k cfLr;ksa esa fdl dk;Z dh iz/kkurk ik;h tkrh gSA  
     ¼d½ O;kikj                 ¼[k½ fuekZ.k m|ksx             
     ¼x½ d`f"k                   ¼?k½ 'kSf{kd                     

1 

 Which major function is found in Rural Settlement is – 
(a) Trade 
(b) Manufacturing Industry 
(c) Agricultural 
(d) Educational.  

 

25 iwohZ Hkkjr dk fojkV uxj gSA  
     ¼d½ dksydkrk                ¼[k½ eqEcbZ               
     ¼x½ iVuk                    ¼?k½ gSnjkckn                     

1 

 Large city on the East coast is - 
(a) Kolkata 
(b) Mumbai 
(c) Patna 
(d) Hydrabad 

 

 2 Marks  

1 xzkeh.k cfLr;k¡ fdls dgrs gS \  2 

 What are called Rural Settlements ?  

2 uxjh; cfLr;k¡ ls vki D;k le>rs gS \ 2 

 What do you mean by Urban Settlements ?  

3 l?ku cfLr;k¡ fdls dgrs gSa \ 2 

 What are called clustered Settlement ?  

4 xzkeh.k cfLr;ksa ds fdUgh pkj izfr:i fy[ksa \ 2 

 Write down, any four patterns of Rural Settlement ?  

5 dLck fdls dgrs gSa \ 2 

 What is called Hemlet ?  

6 egkuxj fdls dgrs gS \ 2 

 What is called mega city ?  

7 uxj fdls dgrs gSa \ 2 
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 What is called City ?  

8 vkS|ksfxd uxj fdls dgrs gSa \ 2 

 What is called Industrial City ?  

9 iz'kklfud uxj fdls dgrs gSa \ 2 

 What is called Administrative City ?  

10 js[kh; izfr:i dgk¡ fodflr gksrk gS \ 2 

 Where does develop liner pattern of settlements ?  

11 Hkkjr ds xzkeh.k cfLr;ksa ds nks y{k.k crkbZ, \ 2 

 Give any two features of Rural settlements of Inida.   

12 ekuo clrh ls vki D;k le>rs gSa \ 2 

 What do you mean by Human Settlement ?  

13 Hkkjr ds fdUgha pkj egkuxjksa ds uke fy[ksa \ 2 

 Write down any four metropolitan City in India ?  

14 Hkkjr ds fdUgha pkj vkS|ksfxd uxjksa ds uke fy[ksa \ 2 

 Write down any four Industrial City in India ?  

15 Hkkjr ds fdUgha pkj O;kikfjd uxjksa ds uke fy[ksa \ 2 

 Write down any four Commercial City in India ?  

16 xqfPNr cfLr;ksa D;k gS \ nks {ks= crkbZ,A 2 

 What is clustered Settlement ? give name of any two area.   

17 iYyh cfLr;k¡ D;k gS \ nks mnkgj.k nsaA   

 What is Hemlated Settlements ? Give two examples.   

18 ifjf{kIr ;k ,dkdh cfLr;k¡ D;k gS \ ,d mnkgj.k nsaA   

 What is dispersed settlements ? Give an Example.  

19 izkphu uxj D;k gS \ nks mnkgj.k nsaA   

 What is Ancient Cities ? Give any two examples.   

20 xSjhlu uxj fdls dgrs gSa \ nks mnkgj.k nsaA   

 What are called Garison/cantonment City ? Give two examples.  

21 Hkkjr esa ^^esxkuxj fdls dgrs gSa \ nks mnkgj.k nsaA   

 What are called Mega city in India ? Give two examples.   

22 tula[;k ds vk/kkj ij uxjksa dk oxhZdj.k fdl izdkj fd;k tkrk gSA  

 How does the classification of cities on the basis of population.   
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 4 Marks  

1 ekuo cfLr;ksa dk tUe ,oa fodkl dks izHkkfor djus okys dkjdksa dk o.kZu djsa \ 4 

 Explain the effecting factors of origin and development of Human Settlements ?  

2 xzkeh.k cfLr;k¡ fdls dgrs gS \ izeq[k y{k.k dk o.kZu djsa \ 4 

 What are called Rural Settlements ? Describe the main features of Rural 
Settlements ? 

 

3 Hkkjr ds xzkeh.k cfLr;ksa ds izdkj dk o.kZu djsa \ 4 

 Describe the types of Rural Settlement in India ?  

4 xzkeh.k cfLr;ksa ds izfr:iksa dk o.kZu djsa \ 4 

 Describe the patterns of Rural Settlements ?  

5 uxjh; cfLr;k¡ fdls dgrs gSa \ blds fo’ks"krkvksa dk o.kZu djsa \ 4 

 What are called UrbanSettlements ? Describe its characteristics.  

6 vkS|ksfxd uxj fdls dgrs gSa \ mnkgj.k lfgr o.kZu djsaA  4 

 What are called Industrial City ? Explain with example.   

7 xzkeh.k cLrh ,oa uxjh; cLrh esa varj Li"V djsa \ 4 

 Differentiate between Rural and Urban Settlements ?  

8 rhoz uxjh;dj.k ls mRiUu leL;kvksa dk o.kZu djsa \ 4 

 Explain the problems created by Rapid urbanization .   

9 mÙkjh Hkkjr dk eSnku esa lokZf/kd uxj fLFkr gS \ dkj.k crk,¡ 4 

 Maximum Cities are located in Northern Plain ? Give reason.   

10 xzkeh.k cfLr;ksa dh leL;kvksa dk o.kZu djsa \ 4 

 Describe the problems of Rural Settlements ?  

 


